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B.A./B.Sc. (General) 3™ Semester
(2124)

GEOGRAPHY (In all Mediums)
Paper—V : Geography of India

Time Allowed : Three Hours] [Maximum Marks : 60

Note :— (1) Attempt FIVE questions in all. Question No. 1
is compulsory. Attempt FOUR other questions, selecting
ONE from each of the four units. Special credit will
be given to suitable use of maps and diagrams in all
questions. Use of unmarked stencils and colours 1s
allowed.

(2) For USOL/Reappear/improvement candidates who
have not been assessed earlier for Internal Assessment,
the question paper in their case shall be of maximum
marks allotted to the paper concerned.

1. Attempt any TEN questions with answers in about 25 words
each :

(i) Highest peak of Arawali
(i) Malwa Plateau
(i) Kumaun Himalaya

(iv) Deciduous forests
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(v)  Khadar

(vi)  Two tributaries of Krishna

(vii)  Two tea producing arcas

(Vi) Western Ghats

(x)  Winter Monsoon

(x)  Sidente

(x1) Mumbai High

(x11) Upper Bari Doab Canal

(xa1) Natural Hazards

(x1v) Migration

(xv) Golden quadrilateral. 10x2=20
UNIT—I

2. Divide India into Physiographic divisions. Divide the Northemn
Plains into geographical sub-divisions and give a brief account
of each. 1+9=10

3. Define Soil. Explain the soils of India in detajl. 2+8=10
UNIT—II

4.  Analyse the conditions under which cotton is grown in India.
Discuss the production and distribution of Cotton.

2+2+6=10
5. Why do earthquakes occur ? How do they aftect life on
Earth ? 5+5=10
UNIT—III
6. Give a geographical account of the production and distribution
of Coal in India. 3+7=10
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7.  Define population density. Describe the factors affecting the density

of population. 2+8=10
UNIT—IV
8.  Analyse the development, production and distribution of Iron
and Steel Industry of India. 242+6=10
9.  Write a detailed Geographic note on Indian Railways. 10
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(vii) D TT IJeued A

(vii) afF=f e
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(V) famsT it © mAofea sdh
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ferdrs a9 auT © B3uTs ni3 3 g9 I997 91

24+2+6=10
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8.

2

3+7=10
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